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Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

66- 1 must remember --------------- the dentist and --------------- the appointment.
1) phone / cancel 2) to phone / cancel
3) phoning / cancelling 4) that I phone / cancel
67- It's —mmememmmemeeee that I'll never forget it.
1) so good a story 2) a story so good
3) so a good story 4) a so good story
68- Genetics, ---------=--- --, emerged as a science at the beginning of the twentieth century.
1) the study of heredity 2) is the study of heredity

3) that it is the study of heredity 4) which is the study of heredity



69- 1 don't know where our main speaker can be. He --------------- hours ago.

1) must be arriving 2) should be arriving
3) might have arrived 4) should have arrived

70- By the time the UN task force arrived, the rebel forces ------=-=v-m-m- the province.
1) took 2) take 3) had taken 4) has taken

PART B: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

71- His father --------=-e-env him of his allowance as a punishment for misbehaving.
1) reminded 2) deprived 3) condemned 4) restricted

72- For the majority of the developing countries, industrialization remains a fundamental
--------------- of economic development. 1

1) change 2) objective 3) resource 4) expectation

73- Volcanic eruption has been a/an -------e-e-ee-- threat to our natural environment for
millions of years.
1) urgent 2) ultimate 3) constant 4) compatible

74- As photographic techniques have become more sophisticated, the scope of their
application has expanded ------===v=n-m-. -
1) exactly 2) actively 3) originally 4) enormously

75- Not many people are good at assessing their own abilities and Mark must be ------------- --
for recognizing that he would never become a great musician.
1) talented 2) merited 3) advocated 4) commended

PART C: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Vitamins are complex compounds that the body requires to function normally. The word vitamin
was (76) =----=-=meememn in this century, but the therapeutic value of certain foods in combating
disease was recognized (77) -=-======mmmmm= 3000 years ago by the ancient Egyptians. They knew that
night blindness could be circumvented by eating liver, a source of vitamin A. In the 1700s an
Austrian doctor discovered that eating citrus fruits sufficed (78) --------—-----—- scurvy, a disease that
affects the blood. In 1795 the British Navy began to give sailors lime juice to prevent scurvy. The
(79) —-—---mmmemee- limey for an Englishman grew out of this use of the humble lime. The Japanese
Navy learned that too much polished rice in the diet causes beriberi, a (80) --==---v------ nerve
disease, and that meat and vegetables, which contain thiamine, prevent the disease.

76- 1) coined 2) invented 3) explored 4) searched
77- 1) early 2) early as 3) as early 4) as early as
78- 1) curing 2) to cure 3) that cure 4) that curing
79- 1) role 2) term 3) norm 4) device

80- 1) painful 2) rare 3) nimble 4) casual
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PART D Readmg Comprehensnon

Directions: Read the following passage and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct chotce on your answer sheet.

PASSAGE:

A dramatic moment in world history took place on July 20, 1969, with one small step.
That was when Neil Armstrong became the first person to walk on the moon. Since
then, many people have dreamed of traveling into space.

Some companies are now offering to make this dream come true—for a price. They
are selling tickets for trips into space on the Russian spacecraft Soyuz. A few people
have already taken these trips or "space tours" as they have been called. The space
tourists stay at the International Space Station, a large space research center which
rotates around the earth. The program lasts just over a week, and tourists are able to go
around the Earth 120 times and travel millions of kilometers.

More space tours are planned for the near future. One tour plans to take space
travelers around the far side of the moon and back to Earth. The space travelers will be
able to view Earth and the moon from the windows of the craft. Many people say that
they would like to take these tours.

However, before everyone starts lining up to get a ticket, there are some things to
consider. First of all, there is the price. The cost for the trip to the far side of the moon
will be about 100 million dollars. Secondly, there is the amount of training and
preparation required for space flights. The tours require all travelers to train for six
months before they can take the trip. They must also get in shape so that they pass the
medical examinations. Thirdly, the lack of gravity in space means that practical
activities become difficult. Everything is weightless. Everyone and anything that is not
tied down will float. It is not possible to sit, walk, or lie down. It is impossible to do
simple things like taking a shower. You cannot use water or shampoo because liquids
float. Instead, people use a wet, soapy cloth to wash. Finally, there are the physical
effects on the body. The lack of gravity causes blood to flow toward the head. As a
result, people get terrible headaches. Also, their bones and muscles become weak
because there is no gravity to push against them. To stay fit, space travelers need to
exercise several hours each day.

Space exploration is not yet for everyone. It is a true adventure, but like all
adventures, it has its challenges.

81- The passage is written in order to ---==--=-=-=-m,

1) try to get people to buy trips into space

2) tell people about the challenges of being a space tourist

3) inform space travelers can view the Earth and the moon clearly

4) consider the cost of the trip before they start lining up to get a ticket
82- The people on a space tour can -------=----=--

1) plan to dream of traveling into space

2) try to prepare the cost of the trip

3) travel around the Earth and stay at a space station

4) operate a spacecraft and take an examination
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83-

84-

85-

It's impossible to lie in bed in space because ~-------------- .

1) people get terrible headaches 2) everyone is not tied down

3) everything is weightless there 4) of practical activities of the moon
According to the passage, space travelers need to exercise regularly because ------===mee-m-,
1) their bodies lose their forms

2) they want to take space walks

3) the lack of gravity causes blood to flow toward the head

4) their bones and muscles will become weak

The word "dramatic"” in line 1 can be substituted by ---------------,

1) significant 2) accessible 3) obvious 4) ancient

."’M"MIO 4‘}

PART A: Sentence Structure

| Directions: Choose the sentence with the best order for each of the following series. Then
mark the correct choice on your answer sheet.

86-

87-

88-

89-

1) Though was popular with teenagers, the singer criticized the adults for his
suggestive movements.

2) Though popular with teenagers, the singer was criticized by adults for his
suggestive movements.

3) Though popular was with teenagers, the adults criticized the singer by his
suggestive movements.

4) Though was popular with teenagers, the adults criticized the singer by his
suggestive movements.

1) Virtually swamps and marshes found every country of the world.

2) Swamps and marshes found virtually in every country of the world.

3) Swamps and marshes are found in virtually every country in the world.

4) Virtually every country of the world are found swamps and marshes in the world.

1) A manager capable of making sound decisions at the right time is certain to
succeed.

2) A manager is capable making sound decisions at the right time being certain to
succeed.

3) A capable manger of making sound decision being certain to succeed at the right
time.

4) A capable manager makes sound decisions is certain to succeed at the right time.

1) The corporation shut down the plant, leaving many workers unemployed.

2) The corporation is shut down the plant, leaves many workers unemployed.

3) The corporation that is shut down the plant, it leaves many workers unemployed.
4) The corporation that it shuts down the plant, left many workers unemployed.
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90-

91-

92-

93-

94-

95-

1) Ancient people believed the earth was the universe center with sun and moon
rotated around it.

2) Ancient people believed that the universe had earth at the center with sun and moon
rotating around it.

3) Ancient people believed that the center of the universe was the earth a sun and a
moon rotated around it.

4) Ancient people believed that the earth was the center of the universe with a sun and
a moon rotating around it.

1) Both of the suggestions should be discussed which were made by he.
2) Both of the suggestions which were made by him should be discussed.
3) Both of suggestions which were made by he should be discussed.

4) Both of suggestions should be discussed which were discussed by him.

1) The officer, while inspects the ranks, sees that the new recruit has laid his rifle in
the mud and it got dirty.

2) The officer, while inspecting the ranks, saw that the new recruit had laid his rifle in
the mud and it got dirty.

3) While inspect the ranks, the officer sees that the new recruit has laid his rifle in the
mud and gets it dirty.

4) While inspecting the ranks, the officer saw that the new recruit had laid his rifle in
the mud and gotten it dirty.

1) Ece, a highly motivated management student, studies her lessons regularly .

2) Ece, she is a highly motivated management student, studies regularly her lessons.

3) Ece, a highly motivated student, she studies regularly her lessons.

4) Ece, that she is a management highly motivated student, studies her lessons
regularly.

1) Becoming a good manager requires a good theoretical background as well a
practical experience.

2) That becoming a good manager requires a good theoretical background as well
practicatical experience.

3) To become a good manager requires a good theoretical as well as practical
experience.

4) That to become a good manager requires a good theoretical background as well as a
practical experience.

1) I can reassure everything be dealt with as quickly possible as.

2) I can reassure that everything will be dealt with as quickly as possible.
3) I can reassure that everything be dealt with as quickly as possible.

4) 1 can reassure that everything will be dealt with as quickly possible as.




PART B: Language Functions
Directions: Read the following conversations between two people and answer the questions

about the conversations by choosing one of the choices (1), (2), (3), or (4). Then mark the
correct choice on your answer sheet.

96- A: Are you tired?

B: Yes, I felt tired and a bit ----=-—---—-,

1) fed up 2) a bad lot 3) out of mind 4) in the know
97- A:1can’t finish my work until midnight.

B: Come on, let’s -=--ememmm and go home.

1) come to nothing 2) kick the bucket

3) call it a day 4) know better days
98- A: The weather is not predictable.

B: Yeah, to be ----------- I’ll take an umbrella. J

1) in turn 2) in the flesh 3) all to the good 4) on the safe side
99- A: Could you help me to ----------- this application form?

B: Let me first phone my friend.

1) look up 2) fill in 3) turn to 4) come to
100- A:They might tell you about a problem and want you to --------nn- a solution.

B: I hope I will be able to give them a decent response.

1) work up to 2) go down with 3) come up with 4) look forward to
101- A: Do you know the latest news about the price of foreign cars?

B: I heard the foreign cars were ----------- by 40%.

1) carried out 2) put off 3) made up 4) marked up

102- A: Let’s go to the airport to ----------- s

B: I’m very busy now.

1) see them off 2) lead them on 3) tie them down 4) put them forth
103- A: The muffins are for Jeff. Do not touch them!

B: I know, mom. ----——--—--- s

1) No sense 2) Just kidding 3) Don’t mention it 4) As a matter of fact
104- A: —-memeeeeee » I haven’t met you before?

B: No, I don’t think so.

1) I’'m sorry 2) Come on 3) I'm afraid 4) Excuse me
105- A: Mom, I was so worried about that test, but now I feel great, -----------!

B: I’m glad to hear that.

1) Go ahead 2) By the way 3) What a relief 4) What a pity

PART C: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

One of the astounding practices of every society in the world is rituals. From the most
(106) -====nn-- developed societies in the world to the most primitive tribes in the depths of
the jungles, rituals are(107) ----------- . No one knows when early man started to involve
himself in rituals, but there is archaeological evidence (108) -==mmmemee- that rituals go a long
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way into history. Human skeletons which are millions of years old show that the bodies
were buried with some kind of ritual.

Basically, what is a ritual? It is a/an(109) ----------- step by step procedure, usually in the
presence of a crowd and often with links to religion. Rituals are (110) ----------- at various
stages of a person’s life - from birth to death. They are always part of a religions
celebration. But, strangely enough, there are rituals which are not religious.

106- 1) exactly 2) highly 3) eventually 4) immediately
107- 1) their lives’s parts 2) their lives parts

3) their parts of lives 4) parts of their lives
108- 1) shows 2) showing 3) that it shows 4) which showing
109- 1) severe 2) deligent 3) elaborate 4) aboundant
110- 1) assessed 2) equipped 3) forecasted 4) conducted

PART D: Reading Comprehension

Directions: Read the following passages and answer the questions by choosing the best

PASSAGE 1:

Book clubs are a great way to meet new friends or keep in touch with old ones, while
keeping up on your reading and participating in lively and intellectually stimulating
discussions. If you're interested in starting a book club, you should consider the following
options and recommendations.

The first thing you'll need are members. Before recruiting, think carefully about how
many people you want to participate and also what the club's focus will be. For example,
some book clubs focus exclusively on fiction, others read nonfiction. Some are even more
specific, focusing only on a particular genre such as mysteries, science fiction, or romance.
Others have a more flexible and open focus. All of these possibilities can make for a great
club, but it is important to decide on a focus at the outset so the guidelines will be clear to
the group and prospective member.

After setting the basic parameters, recruitment can begin. Notify friends and family,
advertise in the local newspaper, and hang flyers on bulletin boards in local stores, colleges,
libraries, and bookstores. When enough people express interest, schedule a kick-off meeting
during which decisions will be made about specific guidelines that will ensure the club runs
smoothly. This meeting will need to establish where the group will meet (rotating homes or
a public venue) how often group will meet, and on what day of the week and at what time;
how long the meetings will be; how books will be chosen and by whom; who will lead the
group (if anyone); and whether refreshments will be served and if so, who will supply them.
By the end of this meeting, these guidelines should be set and a book selection and date for
the first official meeting should be finalized.

Planning and running a book club is not without challenges, but when a book club is run
effectively, the experience can be extremely rewarding for everyone involved.
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111-

112-

113-

114-

115-

116-

The best title for this passage is -—==-==-memeeem-,

1) A Guide for Starting a Successful Book Club

2) Book Club as a Great Way to Make New Friends

3) Five Easy Steps to Starting a Successful Book Club

4) Reading in Groups Causes to Share Knowledge and Nuture Friendships
The organizational pattern of this passage is —--------=v---- G

1) descriptive 2) chronological 3) hierarchica 4) cause and effect
A successful book club should do all of the following EXCEPT ---eeeeeemeeaeee,
1) have a focus

2) decide who will choose book selections

3) concentrate exclusively on one genre

4) determine the place and time of meeting

Identifying what kinds of books or genre will be the club's focus is the ------------——-- ‘
1) initial step a person should do when starting a book club

2) main goal for starting a book club

3) most flexible decision that a leader can make

4) outset of meeting new people and keeping in touch with old friends
You can infer from the passage that ------eeeceeeeee,

1) smaller groups are better for a variety of reasons

2) when running a book club, a casual approach is risky

3) starting your own book store is better than joining an existing one

4) the social aspect of book club is more important than the intellectual

The underlined "venue" in paragraph 3 means -----=--=e=cee--,
1) place 2) view 3) choice 4) meeting
PASSAGE 2:

Mental and physical health professionals may consider referring clients and patients to
a music therapist for a number of reasons. It seems a particularly good choice for the
social worker who is coordinating a client's case. Music therapists use music to
establish a relationship with the patient and to improve the patient's health, using
highly structured musical interactions. Patients and therapists may sing, play
instruments, compose, or simply listen to music.

The course of training for music therapists is comprehensive. In addition to formal
musical and therapy training, music therapists are taught to discern what kinds of
interventions will be most beneficial for each individual patient.

Because each patient is different and has different goals, the music therapist must be
able to understand the patient's situation and choose the music and activities that will
do the most toward helping the patient achieve his or her goals. The referring social
worker can help this process by clearly communicating each client's history.

Although patients may develop their musical skills, that is not the main goal of
music therapy. Any client who needs particular work on communication or on
academic, emotional, and social skills, and who is not responding to traditional
therapy, is an excellent candidate for music therapy.
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117-

118-

119-

120-

This passage is mainly about --------=v=ecm-- "
1) the definition of music therapy

2) music therapist career information

3) working as a music therapist

4) the role of music therapy in social work

The underlined word “discern” in paragraph 2 means —--------------- .
1) provide 2) locate 3) classify 4) recognize
Music therapy, you can infer from the passage, —----—---------.

1) is a relatively new field

2) is specially beneficial for children

3) can be effective where traditional therapies have failed

4) is merely restricted to particular circumstances

According to the text, in music therapy, ---------------- v

1) therapists supervise patients' activities

2) therapists and patients coordinate with each other

3) training patients is the most ultimate aim

4) therapists send patients to highly structured musical classes
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